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QUESTION 1

Which of the following is the default port for Management Portal? 

A. 4434 

B. 443 

C. 444 

D. 4433 

Correct Answer: D 

 

QUESTION 2

What firewall kernel table stores information about port allocations for Hide NAT connections? 

A. NAT_dst_any_list 

B. host_ip_addrs 

C. NAT_src_any_list 

D. fwx_alloc 

Correct Answer: D 

 

QUESTION 3

Which of the following can NOT approve a change in aSmart Workflowsession? 

A. FirewallAdministrators 

B. FirewallManagers 

C. Provider-1Super users 

D. CustomerSuper users 

Correct Answer: A 

 

QUESTION 4

MultiCorp is located in Atlanta. It has a branch office in Europe, Asia, and Africa. Each location has its own AD controller
for local user login. How many ADqueries have to be configured? 

A. 3 
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B. 1 

C. 4 

D. 2 

Correct Answer: C 

 

QUESTION 5

In CoreXL, what process is responsible for processing incoming traffic from the network interfaces, securely
accelerating authorized packets, and distributing non-accelerated packets among kernel instances? 

A. NAD (Network Accelerator Daemon) 

B. SND (Secure Network Distributor) 

C. SSD (Secure System Distributor) 

D. SNP (System Networking Process) 

Correct Answer: B 
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